CCGPS Analytic Geometry Parabolas Practice

Equations for Parabolas: (x —h)* = 4p(y —k) (y-k)
Graph the parabola and then find all of the given
information.
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Equations for Parabolas: (x —h)* = 4p(y — k) (y—k)* =4p(x-h)
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Use the information provided to write the standard form for
each parabola.
Equations for Parabolas: (x —h)* = 4p(y — k) (y—k)*=4p(x-h)
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Use the information provided o write the standard form for each parabola.

Equations for Parabolas: up/down parabolas: (x — h)* = 4p(y - k)

right/left parabolas: (y —k)* =4p(x — h)
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Equations for Parabolas: (x = h)* =4p(y —k) (y —k)* =4p(x—h)

Use the information provided to write the standard form for each parabola.

9. Opens left or right with a vertex at (7, 6) and passes through (5, 2)
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10. Opens up or down with a vertex at (7, 0) and passes through (6, -1)
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CCGPS Analytic Geometry Parabolas Practice

Equations for Parabolas: up/down parabolas: (x —h)* = 4p(y — k) right/left parabolas: (y —k)* = 4p(x — h)
Graph the parabola and then find all of the given
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Equations for Parabolas;: up/down parabolas: (x— h)* = 4p(y - k) right/left parabolas: (y— k)? = 4p(x —h)

*‘fy“f”"’“b")(«? ?411'

40
4, y2—4y—8x=12 (w 42) Ixvil e
2. -, 2
=N TH (KL !
A SN (B
Axis of Symmetry: "f ; . opens ejl‘{: ) /:,
Focus: (0 °2\ ;g ‘\ -
Directrix: X = =% : daEa } :‘ tr
Focal width: ? le?S( A
y
p=2 s
S
2 P!
D v
5. y2-2y +gx -25 CJ [’;'
3
-2 =
Vertex: ( 5,1 \) \ 5
Axis of Symmetry: ] + n
Focus: (’“5 /) ngm '65 \W ;2

S

Y

Directix: X ==~ ’ - ) -
' Al Bl 61 4 ) i y "
Focal width: 8 tog i 518
1%

s
B M

g
o

e v
3
B g | b

Use the information provided to write the standard form for

each parabola.

Equations for Parabolas: up/down parabolas: (x — h)* = 4p(y - k) right/left parabolas: (y— k)’ = 4p(x —h)
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Equations for Parabolas: up/down parabolas: (x —h)* = 4p(y — k) right/left parabolas: (y —k)* = 4p(x —h)
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Equations for Parabolas: up/down parabolas: (x— h)? = 4p(y — k) right/left parabolas: (y — k)’ = 4p(x —h)
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9. Opens left or right with a vertex at (7, 6) and passes through (si)a)

(; ‘j ”',K:‘):l: 4F {Kg— gx} '(;MQ ﬁﬂl/&‘l)@%

SR

@-¢)=4p(s-7) HHN
4 /
L(’-z: 5%,9 (*-2%} ; ] '
f(i“:'?/@' ADlR - y £ 18
=) f
(U wé\)sz» -§(x-7) j
10. Opens Mf/;jqwﬂ with a vertex at {; 5 and passes through ?2 -1)
2 L
[y"’i‘;)' = 4,0 (‘j }i)m 45
(¢-3)=Up(-1-0) :
| = Hpl-U
-1 -
%P P
o . : i
(xA)= 4(//%,! ({j—»(}) &

[h(x‘»«ﬂz =~ {J ma”‘}d}




